ENSAROREERT — 2 ~N— XBISH—F 201748868 (B) 2E/A4A

mﬁa%zﬁ E 4t [HBTE] BE ‘(ﬂ;} 2 ‘[5&%&#&1] - |Z (®) 12000 &
[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. s 2 | EHEBE 1:09.4 2-1 35.3| 8.5 | 3 410 | AT (3ER)
1155 2k A51.0 (=) (=) ‘Eg) ;EL§7/—-L\
:nNd BibhYhHAIy IR ZRE7 7 — L
o “ 4 2 | ERH 1:10.1 7-3 35.4| 755 | 6 470 | BR (FER)
oMl E—FY 54.0 @ ) | ABEE—
R:TUF—v BxvIL Hh #Z
— gy = . AILEAT : - mARE (FR)
3l7l 7| 3H-FUF—h it 2 o 1.(130).6 1-2 36.5| 70.7 | 1 (410) ﬁﬁ;;
L:O—KFpFO7 B:3H-ULUs milll E%
#% 2 | FIBEX 1:10.8 3-3 36.4| 68.6 | 2 434 | EL2ARGE= (ER)
4/8|l9|AZ—TAUZR 54.0 A 1/4) (—) |[HimRockRacineg
L:ANXRZRTING B:I959747 Eldz: |
= A B2 | HiRRE 1:11.0 5-7 36.4| 66.6 | 7 482 | WOREER— (3ER)
5178 N—=ZTH—=I ¥53.0 (1 1/4) (-) &S
R:V>RKYZYRAIR B:TUF4HRTA b BINT 7 — L
5 LR B2 | KOEH 1:11.5 8-9 36.5| 61.7 | 5 458 | IEILTSH (5ER)
6l8l10| E—-FFr> K 54.0 3) (=) |WEMR
R:O0—-KH+A7 BE—FN—F1— fisiibyer)
S ft 2 | BERE 1:11.7 5-5 37.2160.7 | 8 440 | FREE— ()
] 4 h>/7F—L ¥¢53.0 (1 1/4) (=) AT
R T— b WXTT—h B/ —=RTILTIR ¥ 42 245
o WERS 1. — . . fERHE = (BXR)
gl1l1|7avnzr—u— L e 1(;1:)7 8-7 36.8 | 60.1 | 10 (432) el
Z:2bA>gU4—> B:oOviL B B
— ZEBEAN : — HAfi%EE (FXR)
9 3|7V Y4 ILTF 4 R 4 2 e (13.112/.23) 3-5 37.9| 55.8 | 4 (418) %FK%F
Rix>in4O— B:NE/T7UIX AR BA
N S EXRE :13. — . . L1 (ER)
10 o|Frdvaxzy b it 2 L 1(143)0 8-10 38.1]49.8 | 9 (4E2) il
Rihrxexy BRA—bLI—F k4
@ 21 L
£y 46.3-35.3
NO>a24 L | 12.3-10.8-11.0-11.6-11.6-12.1
@ I—F—@EBIERL
13—7-
23—7F—
30—7— (5,%7)-(9,3) (4,8)6(1,2,10)
41—7— (x5,7)-(6,9) (4,3)-(1,8)10,2
[ RN
B Op 5 680H 794K 5-6 970M & 5-6 3,380 &R 5-6-7 1,780M
# B 5 1509 Sl 230 B E 5-6 3,710 EE 5-6-7 16,150H
6 250M 6-7 4809 B H 5-6 7,230M
7 1109

ABICOVWTRDTEEERROODE. TR LIV,




